<> H n N 5 n 53259093 HANSADESIGNO - Afwerkset bad -en douchekraan

EAN: 4015474277007
static.hansa.com/53259093

Reserveonderdelen
5.1
2 ® 0 SP53259093
e T B
226> Naam Code
_— 1 Hendel, 70 mm 59913331
11 Schroef, M5x35 59913299
14 0-ring, d 3x1.5 59913100
15 Kap Chroom 59913332
2 Kap Chroom 59913364
21 Glijring wit 59913363
22 0-ring, d 38x2 59913212
23 Afdekplaat Chroom 59913448
3 Afdekplaat, 75x75 mm Chroom 59914209
31 Afdekplaat, 75x75 mm Chroom 59914212
33 0-ring, 60x3 59913280
34 0-ring, d 40x2 59911507
5 Hendel Chroom 59913345
5.1 Hendel, 9 mm M6 Chroom 59913348
52 Rosassen 59914210
53 Schroef, M4x4 59901027
5.4 Doorvoerbegrenzer 59911897
9 Doucheslang, L=1750, G1/2-M12x1 Chroom 59912281
9.1 Afdichtring, d 21x12x2 59912304
9.2 Terugslagklep 59905714
93 Afdekplaat, 75x75 mm Chroom 59913879
95 Houder Chroom 59913289
9.6 [DU3238] 59912337
9.7 Schroef, M4x45 59912291
9.8 Doorvoernippel 59913288
10 Handdouche Chroom 54390100
101 Doorvoerbegrenzer 59912777
NI, Inbouwverlengstuk kompleet, 30 mm, HM 3.5 (-2015) 59913189
N.I. Inbouwverlengstuk kompleet, 30 mm 59913190
NI Verlengschroeven, (2015-) 59914337

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024


https://static.hansa.com/53259093

